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CLASS-XI ( TERM - I ) EXAMINATION, 2022
( Paper - III )
MATHEMATICS
( Optional )
( MCQ Type )

Time : 1 Hour Full Marks : 40
qHT ;| " quUis : 40
GENERAL INSTRUCTIONS / QAT fe3T

I. Carefully fill up the necessary particulars on the OMR Answer Sheet.

HEYEN Tae T [FeR0 OMR 3 0% T 91|

Put yor full signaturc on the OMR Answer Sheet in the space provided.
HIY HOAT [T FEARR OMR W 9 1 3 T SE T &Y |

o

2. There are 40 Multiple Choice Questions in this Question Booklet.

wmmﬁ%4oa§'ﬁmmél

All questions arc compulsory. Each question carrieg | mark. No marks will

be deducted for wrong answer,
ity aifard § | O T F AR | sig 9 b | e 3 & (00 36 T
hIdT ST |
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. If A={x: x is a letter of the word SCHOOL } then which onc is the roster

form of A ?
(1) A={S,C,H,0O,L} 2y A={S,CL}
(3) A={S,C,H, L} (4) none of these

I A={x: x ™ SCHOOL & U% &R & } A A 1 UL T &1

h}

{s,c,H,0,L} @ a={s.cL)

(1) A

f

(3)  A={S,C,H, L)} 4) 7T q FE 79

Two non-empty sets A and B are said to be equivalent sct if

(1)  n(A)zn(B) - (2]~ n{A)= n(B)

(3) nothing can be said (4) none of these

21 A T A T B WNqed eI FEelal § AR

(1) n(A)#n(B) (2)  n(A)= n(B)
(3)  $S ol FE FET S Fehel (4) T @
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3. If a set A has n elements, then the number of elements in the power set ¢
Ais
(1) n? 2 2"
(3) 22” (4] 2!14-1

ﬁvqu%nm%mAﬁmﬁﬁmﬁmﬁmﬁnﬁ

(1) n? 2 2"
3 2~ @ 2"
4. 1f A={1,2,3,4,5,6} and B={2,4,6,8 } then B- A will be
(. 18} 2) {2,4,6}
(3) 12,4,6,8} (4)  none of these

ac A={1,2,3,4,56} T B={2,4,6,8 } @ B- A=mT

(3) {2,466 8) @ Flﬁ@rméqg'}
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If A and B are two sets such that n(A)=17,n(B)}=23 and n(AUB)=38

then n(AN B) = 38 will be
W 2 (2) 38

Lo
-

‘ (3) ~ 40 4) 4

-

ag A 91 B g T 39 THR & % n(A)=17, n(B)=23 axq n(AUB)=38

A n(ANB) = 38 &M

(3) 40 4) 4

If(x+y x-y)=(3,5)then x and y will be

(1) x=3,y=1 \(ﬁi x=1,y=3

B x=d = @) x=5,y-2

'a"Tr:[x+y,x—yJ=[3,5;tha*errym

(1) x=3,y=1
Y (@) x=1y4=3

(3) x=4% y=-1
Y . [4) X-:S,y:Q

XSC-MAT-(0Opt,).5.¢.
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7. If n{A)=p and n(B)=q then n(AxB)=

- pf @ e

3 pgq (4) -f]-’.

A n(A)=p @ n(B)=q & A n(AxB)=
- p" 2) q”
(3)  pg (4) g
If f{x]=_2tan;f , the value of f (%] will be

l+tan” x

RUBN 2) -2
ok 4 -3
g f(x)=- 2“"{'1”',1-, a f (l‘.] 1 A 2

1+tan” x 4 ‘
(1) 4 2 -2
(3) I ) 4
X8C-MAT-(Opt.)-8.cC. .y
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. 4 -x .
9, The domain and range of real function flx)= o will be

(1)) Domain = R, Range ={-1, 1}
(2)  Domain=R-{1}, Range =R

(3) Domain = R- {4}, Range = {- 1}

(4) Domain = R-{-4} Range=[-1, 1]

ATEATEE HH f(x) =2 ‘z &1 U Ue IE B
| o

(1) "W =R IH ={-1,1}

(2) U =R-{1} I =R

(3) WM =R-{4}, A8 = (-1}

(4) T =R-{-4} IR =[-1,1]

0. 1If A, Band C are three non-empty sets then Ax(BUC) is equal to

(1) (AxB)1(AxC) (2)  (A-B)U(A-C)

(3) (AxB)U(AxC) (4)  None of these

XSC'MAT‘(OPt-l-S.C. 7 /20
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3fz A, BAw ¢ dim et @yead & A1 Ax(BUC)=

(1)  (AxB)N{(AxC) . (20 (A-RBR)U(A-C]

(3) (AxB)U(AxC) 4) 399 HR T
11. 1 degree =

97 Tg_O radian \[?] % radian

(3) @ radian (4) none of these

| feut =

T fz=ms 180
() 130 (2) — feam
3)  n T @) Y wE

12.  If the angles of a M#ngle arc in the ratio 3 : 4 - S, the smallest angle 1

radian will be

). = n
v 3 \(%F 3
@ = (4 on
2 ) v
XSC-MAT-(Opt.)-s.C. - o0
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13.

14.

3 BT & B w1 v 304 2 5 A FER BT 0 Y S g

1y = n
4 (2) 3

@ = Sn
2 @

=1 . .
If cos X=—5, X lies in third quadrant then the value of sin x will be

-1 )

Wy & 2
-3

G =T O

T cosx=~_—2—1 ﬁﬂﬂlxﬁ?ﬂ‘qﬁqﬁﬂﬁf@lﬁ%ﬁ?sinxwm.ﬁﬂ

-1 3

W3 @ %
-3

@ —= (4) %

cos (- 1710°) =

(1) O (2) . 1
1
3 = 3
( 2 @ 5
XSC-MAT-(Opt.)-s.C. g/ 20
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_ cos20°-sin20° _
1o, cos 20° +s1n 20°

H

'_ tan 45°
o u.)- tan 25° (@)
(3) tan 20° (4) tan 35
sin A+sin3A
cos A+cos3A -
(1) cot 24 (2). tan24
(3) tan A (4) cotA
17 cos2A~=
(1) cos A-sinA (2) _2tanA
1+tan? A
3) Qtan;‘i (4) 1-tan? A
l-tan” A - ] 2
+tan“ A

8. The principal solution of cot x=-+/3 will be

5 11n

1) =22 22F
DA (2) _53_“l.1_7£
3
3 S IE
6' 6 (4) I Sm
: 6’ 6

XSC-MAT-(Opt.).5.c.
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cotx=-3 H T g1 g

m i o F.1E
@ =& In @z %E
The general solution of cos0== will be

1) 2nmsl 2)  2nn +{j:
3) 2nmm -1 . (4)  2nm+Z

] onm + L
(1) nm T : (2) 2nn +-T4£
3) 2nn-Z
) i 4 (4) 2nr 3 L
3
The general solution of Cos 40 = cog 2p will b
1 e
(1) Lo
3 ¥
(2) nﬂ) Sn.T[
(3) 2nm + &
3 (4)
XSC'MM'[OP‘C-I-&C.
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21.

COS 40 = cog 2 I T & &M

(1) _7:}35’ N (2) nn, 3nn
(3) gmi% (4) T @ FE T

Square of an imaginary number is always

(1)  positive (2) negative

(3) nothing can be said (4) none of these
) PR

(3) TV T T W wEA @) A
1410 4 20 4 {30 ¢

.- 0 @1

(4) -

XSC-MAT-(Opt.)-s.C.
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The conjugate of a complex number 2 =
() a-ib (2) -a+ib
3) -a-ib (4 a+ib
aftas 4@ 2= q + ib H W EW

(1) a-ib (2) -a+ib
(3) -a-1b | (4) a+ ib

The multiplicative inverse of 1 + i will be
@ /
: 1-1
(1), 1 i e
ATy | J2

141 - 1=j
3 —= —_—

1 + i &I TS Aidelid ghm

(1) 1-i " &
J2
1+1 "—-—--;.
(3) N {4] —E l
XSC-MAT-(Opt.).5 c.
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29.

26.

are
If (3y-2)+i(7-2x)=0 then the values of xand y

7 2 ) 7 y=2
1 7 .2 wel y=
( ' X 3’ Yy 3 2 3
3) x=0,y=0 (4) none of these
g (3y-2)+i(7 -2x)=0 al x A y & A E

L y=2 _7 22
Woxmzve3 N T
3 x=0.y=0 (4 T A FE A

1+ . ,
Express 1—;—! in the standard form a+1b.

(1) O+ (2) 0-i

(3 1+0i (4) 1-0i

-1

L1 St gk ®9 avib § o wif

\(}] 0+1 (2) 0- i

3 1+0 4)  1-0i

XSC-MAT-(Opt.}).8.C.
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27. If zis a complex number then z- z =

1) |z @ |z

(3) | z] (4) none of these

a2 T WY TR R A 5. 7 <

1) |zl @ |z’

(3) | z] (4) TH W HE @l
28.  All roots of the equation x? +2=0 will be

(1) ~2i - 2i (2)  3i-3i

@) i -i (4)  1+i 1-i

FHROT x2 +2=0 & QH geT &

(1)  2i,-2i | @)  3i,-3i

@) i-i 4) 1+i 1-i
29.  Solution of 3(1-x)<2(x+4) is

1 =L ) 2) (=1 o

3) (-, 1] (4) (—'w, -1)
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30.

31.

S(1~x)<2(x+4a)HT 8 &

(1) [-1,00]

(3) (——00,1]

H6-x>11-2x then

_[1) X e [5,®)

(B) xe(-%,5)

U&T 6-x>11-2x d

(1) = xe[S5x)

(3) xe(-»3)

 JAC

(4)

(2)

(4)

(_]1 OO]

(—oc,—1)

X € (5,)

x €(-,5 ]

X € (S5,o)

X e€(-0,5 ]

Solve 24x <100 when xis a natural number.

Jd)  {1,2,3,4}

(3) {0,1,2,3,4}

(2)

(4)

11,2,3,4, 5

None of these

XSC-MAT-(Opt.)-s.C.
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32.

33.

34.

<>

24x <100 a—ﬁgﬂﬁmx@g@ﬁiﬁﬁﬂﬁl

(1) {1,2,3,4) 2 {1,2,3,4,5}.

(3) {0,1,2, 3,4} @) T @ HE T

foTl[xg—x2+1]-_-

(1) o 2 1

3y -1 4 2

Lim l+x-1_

x>0  x

(1) O (2) 1

® 3 W -

Lim SInX _

x>0 x

U @ o

G-t 4y 1
XSC-MAT-(0pt .5,
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35, Lim x!5_

X2 1,007 "
3 2
(1) 5 2 3
(3) 1 4 _%
36 Lim x*+x-6_
X =2 x=2 -
S (2) -5
(3) -g— (4) %
37. If ﬂx]=2x2+3x~5hhen f"{0]+3f*’(_1)=
1y 2 2 o7
3 1 4 -1
2 j T
A fla)=2x" +3x=5T f0)43 /(1)
(2 @2 o
@ 1 4 -1
*SCMAT10pt.).8.c. 18/ 2
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d

38, —sin?y =
3 S x =
,[__U,/-‘ sin 2x (2) - sin x
(3)  2sin x (4)  none of these
d
ESII‘I X =
(1)  sin 2x (2) sinx
()  2sin x (4) T ¥ =i @
39, ~—— 8i : =
} dxsmx CoSx
(1) cos x (& sinx
(3) cos 2x (4)  sin 2x
_ d X |_
w0 () .
1
1y - (2)
(1) x+1) (x+1)
-1 - X
3 T (4)
S (1)’

XSC-MAT-(Opt.)-S.C.
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